
Maths

IB1 Examination of June 2019

Friday 13 June −Part 1− ANSWERS

13 IB's P1 Questions (tot : 80 marks)
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Problem 1 [ 7 marks ]

(
1
2
r2�= 12cm2

�r=6cm
)24

r2
= 6

r
)r=2cm

Problem 2 [ 8 marks ]

(a) d=u2−u1= logc(pq)− logc(p)= logc(q)

(b) if p= c2 and q= c3 then u1=2logc(c), d=3logc(c)

and
X
n=1

20

un= 20u1+
20� 19

2
d =40logc(c)+ 190� 3logc(c)= 6103 logc(c)

Problem 3 [ 6 marks ]

u1=−5 d=3

(a) u8=−5+7� 3= 16

(b) −5+ (n− 1)3= 67) n= 72
3
+1= 25

Problem 4 [ 16 marks ]

(a) log3 (4x+1)+ log3 (x−2)− 2 log3 (3x)=0 ) (4x+1)(x−2)
9x2

=1

domain: x> 2

S=?

)(4x+1)(x−2)=9x2)5x2+7x+2=0

)x=−1 or x=−2

5

(b) log(x2+2x− 3)− 2log(x− 1)=2

domain: x> 1

S=
�103

99

	
)x2+2x− 3

(x− 1)2 = 100

) (x+3)(x− 1)
(x− 1)(x− 1)

= 100 )x+3= 100x− 100

)103
99

(c) 6+4x=5 � 2x )y2− 5y+6=0 y=2 or y=3 where y=2x

S= f1; log2(3)g
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Problem 5 [ 4 marks ]

cos(�)= 1− 1

9

q
= 8
p

3

cos(4�)= cos2(2�)− sin2(2�)= (cos2(�)− sin2(�))2− (2sin(�)cos(�))2

=
( 8
9
− 1

9

�
2− 41

9
� 8

9
= 49− 32

81 = 17
81

Problem 6 [ 4 marks ]
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�
=�

�
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2p(p+1)=24 )p2+ p− 12=0

S= f−4; 3g

Problem 7 [ 6 marks ]

Find the value of each of the following, giving your answer as an integer

(a) log6(36)= 2

(b) log6(4)+ log6(9)= log6(36)= 2

(c) log6(2)− log6(12)= log6
( 1
6

�
= −1

Problem 8 [ 5 marks ]

Cos(A)= 1−
( 5

13

�
2

q
= 12

13 and cos(2A)= cos2(A)− sin2(A)= 122− 52

132 = 119
169
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Problem 9 [ 8 marks ]

u1=1+ k

u2= s2− s1=5+3k− (1+ k)=4+2k

u3=7+4k

u4= 10+8k etc::::

(b) A general expression for un is:un=1+ (n− 1)� 3+2(n−1)k= 3n− 2+2n−1n

Problem 10 ��> [ 3 marks ]

Problem 11 [ 6 marks

u~ =

0BB@ −3
1
1

1CCA, v~ =

0BB@ m
0
n

1CCA v~?u~ )−3m+n=0

v~ unit )m2+n2=1
)(3n)2+n2=1)n=� 1

2
andm=� 1

6
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Problem 12 May17 1.0 Q4 [ 7 marks ]
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Maths

IB1 Examination of June 2019

Friday 13 June −Part 2− ANSWERS

6 IB's P2 Questions (tot : 40 marks)
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Problem 1 [ 6 marks ]

a) DB= 11 sin(59)
sin(100) = 9.57cm b) CD= 9.572+62− 12� 9.57cos(82)

p
= 10.56 cm

Problem 2 [ 8 marks ]

Let us consider the points A(�2; 1), B(2; �2) et C (4; 4).

(a) The lengths in the triangle ABC are AB= 42+32
p

=5; AC= 62+32
p

, BC= 22+62
p

(b) The angles of triangle ABC are Â =arccos
�

15
5 45
p

�
= 63.430; B̂ arccos

�
−6

25� 40
p

�
= 100.940; . ..

(c) The area of triangle ABC is 5 62+32
p

sin(63.430)
2 =15u2
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Problem 3 [ 7 marks ]

Problem 4 [ 14 marks ]
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Problem 5 �> [ 3 marks ]
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Problem 6 �> [ 2 marks ]
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